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Section A 

Answer at least two questions from this section [see page 1 for full instructions]. 

 
1. The total hardness values of a water supply before and after it had been passed through a laboratory 

deioniser were compared.  This was done by adding a suitable indicator and a small volume of buffer 
solution to 50.0 cm3 samples of the water in a conical flask and titrating with edta solution. 

 
 The reaction between the calcium ions and the magnesium ions (represented by M2+) in the water and 

the edta (represented by H2Y
2–) is given in the following balanced equation. 

 
 M2+        +       H2Y

2–                      MY2–       +       2H+ 

 
 (a) What is the full name of the edta reagent? (5) 

 (b) Name an indicator suitable for this titration and state the colour change observed at the end point 
   of the titration. (9) 

 (c)  What is the general purpose of buffer solutions?   
   What buffer was required for this titration? 
   What problem would have been encountered in this titration if the wrong buffer were used? (9) 

 (d) Explain the two operations, involving the titration flask and its contents, carried out as the edta 
was being added from the burette during the titrations. (6) 

 (e) It was found that 50.0 cm3 samples of the hard water before ion exchange required an average of 
9.20 cm3 of 0.01 M edta solution for complete reaction and that 50.0 cm3 samples of the water 
after ion exchange required an average of 2.40 cm3 of the same edta solution for complete 
reaction. 

   Calculate the total hardness of the water before ion exchange in 

   (i) moles per litre of calcium and magnesium ions (M2+),   

   (ii) grams per litre expressed in terms of CaCO3,  

   (iii) ppm in terms of CaCO3.  

   Repeat these calculations for the water after ion-exchange. (15) 

 (f) State and explain whether the water having passed through the deioniser is suitable for use as 
deionised water in the laboratory or if the deioniser needs to be changed or regenerated. (6) 

    

____________________________ 
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2. To prepare soap, a student refluxed 8.9 g of glyceryl tristearate (obtained 
from animal fat), 2 g of sodium hydroxide pellets and 30 cm3 of ethanol, 
together with a few anti-bumping granules, using the apparatus shown on 
the right.  At the end of the experiment 7.0 g of pure, dry soap were 
isolated.   The balanced equation for the reaction is as follows: 

 
   

 

 

 glyceryl tristearate    sodium stearate   glycerol 

 (a)  Write the systematic (IUPAC) name for glycerol.  (5) 

 (b) Why was the reaction mixture heated under reflux?  

  Name the type of reaction that occurred during the reflux.     

  What was the purpose of the ethanol? (12) 

 (c) (i) Describe, with the aid of labelled diagrams, how the ethanol was  
   removed after the reflux stage. 

  (ii)  How was the soap isolated from the other substances left in the reaction mixture? 

  (iii)  After isolating the soap, how was it purified and dried? (21)  

 (d) Given that the sodium hydroxide was in excess, calculate the percentage yield of soap (sodium 
  stearate). (12)  

                                          ___________________________ 
 
3. A stopwatch was started when 50 cm3 of a 0.20 M sodium thiosulfate solution was poured into a conical 

flask containing 10 cm3 of 1.0 M HCl solution.  The conical flask was put standing on top of a black 
cross marked on white paper.  The time for the cross to become obscured by the precipitate produced in 
the reaction was measured.  The reciprocal of this reaction time (1/t) was taken as a measure of the 
initial rate of the chemical reaction. 

 The stock 0.20 M solution of sodium thiosulfate was then diluted with deionised water to produce       
50 cm3 each of 0.16 M, 0.12 M, 0.08 M, 0.04 M and 0.02 M solutions in turn.  The times taken for these 
solutions to react with 10 cm3 of the 1.0 M HCl solution were also measured in identical conical flasks 
as described above.  All six reactions were carried out at 20 ºC and the results are given in the table. 

Concentration Na2S2O3  (M) 0.20 0.16 0.12 0.08 0.04 0.02 

Reaction time (min) 1.14 1.43 1.89 2.94 5.88 11.11 

1/t (min–1) 0.88 0.70 0.53 0.34 0.17 0.09 

 (a) Identify the precipitate produced in each flask. (5) 

 (b) Describe a procedure for diluting the 0.20 M sodium thiosulfate solution to give 50 cm3 of a  
  0.12 M solution. (9) 

 (c) Why are the concentration and the volume of the HCl solution kept constant? (6) 

 (d) Plot a graph of reaction rate (1/t) versus concentration of sodium thiosulfate.  

 What conclusion can be drawn from the graph about the relationship between the rate of the 
reaction and the concentration of the sodium thiosulfate? (18) 

 (e) Use your graph to predict the time taken for 50 cm3 of a 0.10 M solution of sodium thiosulfate  
   to react with 10 cm3 of the 1.0 M HCl solution at 20 ºC. (6) 

 (f) The procedure described above was repeated using 50 cm3 portions of the 0.20 M sodium  
  thiosulfate solution and 10 cm3 portions of the 1.0 M HCl solution at a number of different 

temperatures between 10 ºC and 70 ºC and the reaction times were measured as before. 

   Would you expect the reaction times to increase, decrease, or stay the same, as the temperature  
   was increased?  Justify your answer. (6) 

C17H35COOCH2 

C17H35COOCH 

C17H35COOCH2 

+  3NaOH 3C17H35COONa     + 

HOCH2 

HOCH 

HOCH2 

NaOH, 
ethanol, 
fat 
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Section B 
[See page 1 for instructions regarding the number of questions to be answered.] 

4. Answer eight of the following items (a), (b), (c), etc. (50) 

 (a) Write the electron configuration (s, p, etc.) of the oxygen (oxide) ion (O2–).  

 (b) State two differences between Mendeleev’s periodic table and the modern periodic table of the  
   elements. 

 (c) What are the two possible shapes of molecules of general formula QX2? 

 (d) How many atoms of iron are there in a 30 g bowl of cornflakes that contains 0.0024 g iron  
   per 30 g serving? 

 (e) State Gay-Lussac’s law of combining volumes. 

  (f) Define activation energy. 

 (g) Distinguish between sigma (σ) and pi (π) covalent bonding. 

 (h) What is an ideal gas? 

 (i)  What happens during the secondary stage of sewage treatment? 

 (j) Draw the structural formulae of any two molecules with the molecular formula C3H6O2.  

 (k) Answer part A or part B.  

  A Write a balanced equation for the reduction of iron(III) oxide by carbon monoxide in a blast 
furnace.  

or  

  B Write a balanced equation for the reaction that occurs when sulfur dioxide from industrial 
gaseous emissions dissolves in water. 

____________________________ 
 
 

 

5. (a) State two assumptions of Dalton’s atomic theory of 1808. (8) 

 (b) The electron was the first of the sub-atomic particles to be discovered.  It was identified in 
experiments using cathode rays that were carried out in the late nineteenth century. 

   Name the scientist  

   (i)  who, about 1897, measured the ratio of charge to mass of the electron, e/m,  

  (ii)  who, about 1910, proved that the electrons in an atom reside in an electron cloud surrounding 
a small dense positive central nucleus,  

   (iii)  who, about 1911, measured the charge on the electron, e. (9) 

 (c) The arrangement of the electrons in the electron cloud proposed in 1913 by 
Bohr, pictured on the right, was consistent with the hydrogen emission 
spectrum. 

   Outline Bohr’s atomic theory based on the hydrogen emission  
   spectrum. (15) 

 (d) State two limitations of Bohr’s theory that led to its modification.  (6) 

 (e) Define atomic orbital. 

   Draw the shape of the  p-orbital. 

   State the maximum number of electrons that can be accommodated  
   in a p-orbital. (12) 
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6. (a)   Give the systematic (IUPAC) names for the three  
    hydrocarbon compounds X, Y and Z.  (8)  

 (b)  Compounds X and Z are obtained from the same fraction in the oil  
    refining process.  Name the fraction in which X and Z occur. 

    What two properties of the compounds are responsible for them  
   being found in the same fraction? (9) 

 (c) What is meant by auto-ignition in petrol engines? 

    Compound Y has an octane number of 83 and therefore has the same  
  octane rating as an 83:17 mixture of two reference hydrocarbons.  

  Name the reference hydrocarbon that is the major component of the 
83:17 reference mixture. (6) 

 (d) Define heat of combustion. 

    Outline how the heat of combustion of X could be measured using a bomb calorimeter. (15) 

 (e) In order to increase its octane rating, compound X is converted to compound Z in oil refineries by  
   the following reforming (dehydrocyclisation) process: 

C7H16 (l)                 C7H8 (l)     +       4H2 (g) 

   Calculate the heat change for this reaction given that the heats of formation of C7H16 (l), and  
   C7H8 (l) are –224.2 and 12.4 kJ mol–1, respectively. 
    State one important industrial use for the hydrogen produced in this reaction. (12) 

____________________________ 
 

7. Phosphorus(V) chloride decomposes into phosphorus(III) chloride and chlorine at a temperature of 
500 K according to the following balanced equation.  

PCl5 (g)
                                    PCl3 (g)

       +       Cl2 (g) 

 (a) This is a reversible reaction and a dynamic equilibrium is reached. 

   Explain the underlined terms.  Why is the equilibrium described as dynamic? (11) 

 (b) State Le Châtelier’s principle.   
   Write the equilibrium constant (Kc) expression for the above reaction. (12)    

 (c) When 208.50 g of phosphorus(V) chloride is heated in a 100 litre container at a temperature of  
   500 K equilibrium is established with 53.25 g of chlorine gas present in the container.  

   Calculate the value of the equilibrium constant (Kc) for the reaction at 500 K. (12) 

 (d) When the temperature of the equilibrium mixture is increased, the phosphorus(V) chloride 
decomposes further.  Is the reaction endothermic or exothermic? Justify your answer.    (6) 

   (e)  What change, if any, would an increase in pressure have on the value of Kc?  Explain. (9) 

     
 
8. (a)   Define (i) acid, (ii) conjugate acid, according to the Brønsted-Lowry theory. (8) 

In acting as an acid-base indicator methyl orange behaves like a weak acid.  Letting HX represent 
methyl orange, it dissociates as follows: 

HX                                           H+      +      X– 

  In aqueous solution, the undissociated form (HX) is red and the dissociated form (X–) is yellow. 

Distinguish between a strong acid and a weak acid. (6) 

What is the conjugate base of HX?  (3) 

 (b) State and explain the colour observed when a few drops of the methyl orange solution is added to  
(i) a 0.1 M solution of HCl, (ii) a 0.1 M solution of NaOH. (12) 

 (c) Calculate the pH of (i) a 0.1M solution of NaOH, (ii) a 0.004 M solution of methyl orange, if 
methyl orange has a Ka value of 3.5 × 10–4. (9) 

Draw a clearly labelled diagram of the pH curve you would expect to obtain when 50 cm3 of  
0.1 M NaOH solution is added slowly to 25 cm3 of a 0.1 M HCl solution.  Explain by referring 
to the curve why almost any acid-base indicator can be used in this titration. (12) 

Z 

Y 

X 

CH3 

CH3(CH2)5CH3 
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9. Study the reaction scheme and answer the questions that follow.     

                                                                        

 

 

 

 

 
 (a) Name the molecule in the scheme that contains no tetrahedral carbon atoms.          (5) 

 (b) Identify (i) an addition reaction, (ii) a substitution reaction, in the scheme above. (6) 

 (c) Describe the mechanism of reaction Y.                                                           (12) 

 (d) State the reagent(s) and condition(s) required to bring about  
   (i) conversion V, (ii) conversion Z.    (12) 

 (e)  Draw a labelled diagram to show how conversion X could be carried out in the school  
   laboratory.   (9) 

 (f) Conversion W involves a three-step synthesis.  Draw the structures of the two organic  
   intermediates in this synthesis.       (6) 

 

10. Answer any two of the parts (a), (b) and (c). (2  25)  

(a) Define electronegativity.  (6) 

  State two factors that cause electronegativity values to increase across a period in the periodic 
table of the elements. (6)  

 State which of the following compounds contain intermolecular hydrogen bonds: 

 (i) hydrogen chloride, HCl, (ii) water, H2O, (iii) ammonia, NH3.  Justify your answer. (9) 

  Suggest a reason why the boiling point of ammonia (–33 ºC) is significantly lower than that of  
  water (100 ºC).  (4) 

 (b) A chemist synthesised benzoic acid in the laboratory and purified it by recrystallisation.  The 
melting point of the product was measured before and after recrytallisation.  

  (i) Describe with the aid of a labelled diagram how the melting point of either the crude 
product or the recrystallised product could have been measured. (12) 

  (ii) Give two ways the chemist could have concluded from the melting point measurements 
that the recrytallised product was purer than the material first prepared. (6) 

  (iii) Name the instrumental technique that could have been used to confirm the identity of the 
product based on its absorbtion of a unique set of low energy electromagnetic radiations. (3) 

  (iv) Give one important use of benzoic acid or its salts. (4) 
   

 (c)  The balanced equation for the oxidation of ethanol to ethanal using sodium dichromate 
  in acidic conditions is as follows: 

   3C2H5OH  +  Na2Cr2O7  +  4H2SO4   →   3CH3CHO   +   Cr2(SO4)3  +  Na2SO4   +  7H2O 

 (i) Deduce the oxidation numbers of chromium in the sodium dichromate reagent and in the  
  chromium sulfate product.  (7) 

 (ii) State the colour change observed as this reaction proceeds.  (3) 

   (iii) Describe a test you could carry out to confirm that the organic product is an aldehyde. (9) 

   (iv) Give the name and structure of another organic compound that could be formed when 
ethanol is oxidised using acidified sodium dichromate.   (6) 

C2H5OH 

PVC C2H4 

C2H5Cl 

C2H6 

X 

Y 

Z 

V 

W 
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11. Answer any two of the parts (a), (b) and (c).  (2  25)  

 (a)  The apparatus shown on the right was used to investigate the electrolysis of 
aqueous sodium sulfate to which a few drops of universal indicator solution 
had been added.  The solution was initially pale green in colour.  

 (i) Name a material suitable for use as the electrodes A and B. (4) 

 (ii) How was the current conducted through the electrolyte? (3) 

 (iii) At which electrode, A or B, did oxidation occur? 
   Write the equation for the reaction that occurred at this electrode. (9)  

 (iv) When a current passed through the electrolyte for 15 minutes, 8.5 cm3 
of gas was collected above the positive electrode.  What volume of gas 
was collected above the negative electrode in the same time? (3) 

 (v) At which electrode did a blue colour appear? Justify your answer. (6)   

 (b) Define (i) radioactivity, (ii) the half-life of a radioactive isotope. (10) 

 Americium–241 is a radioactive isotope used in domestic smoke detectors.  Americium–241 
has a half-life of 432 years and decays by emitting alpha particles to produce neptunium. 

 Determine the value of A and the value of Z in the following nuclear equation for the alpha 
decay of an americium–241 nucleus. (6) 

241
95 Am            →             A

Z Np       +             4
2 He         +            energy 

 Alpha particles are hazardous to human health.  State one risk associated with exposure to 
alpha radiation. (3) 

 Explain why the occupants of a house fitted with smoke detectors containing americium–241 
are not at risk from alpha radiation emitted by these devices. (3) 

 Householders are advised to replace the batteries in smoke detectors regularly.  Explain 
whether or not the americium–241 needs to be replaced regularly also. (3) 

  

 (c) Answer part A or part B 

   

  A 

Diamond and graphite are macromolecular crystalline forms of 
carbon.  Explain in terms of bonding  

  (i) the hardness of diamond,  

  (ii) why graphite is soft and can be used as a lubricant,  

  (iii) the electrical conductivity of graphite.   (18) 

   Buckminsterfullerene is another crystalline form of carbon that consists of football shaped 
clusters of 60 carbon atoms as shown.  What type of bond joins the carbon atoms in these 
‘bucky balls’? (3) 

  The spatial arrangement of carbon atoms in each of these three structures was established by 
analysing the scattering of X-rays by the crystals.  What was the surname of the father and 
son who pioneered this technique? (4) 

or 
 B 

  Oxygen is produced on an industrial scale by the liquefaction and fractional distillation of air.  

 (i) What substances are removed in the purification of the air feedstock before it is 
  liquefied? (4) 

 (ii) Describe with the aid of a labelled diagram how the fractional distillation of the pure 
liquid air is carried out. (9) 

 (iii) Explain whether the fractional distillation of air is a continuous or a batch process. (6) 

  (iv) Name and give one industrial use of a co-product of the fractional distillation of air. (6) 

A 

B 



Page 8 of 8 

   

 

 

 

 

 

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 
 
 
 

 

Blank Page 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles false
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /AgencyFB-Bold
    /AgencyFB-Reg
    /AharoniBold
    /AngsanaNew
    /AngsanaNew-Bold
    /AngsanaNew-BoldItalic
    /AngsanaNew-Italic
    /AngsanaUPC
    /AngsanaUPC-Bold
    /AngsanaUPC-BoldItalic
    /AngsanaUPC-Italic
    /Arial-Black
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialRoundedMTBold
    /Batang
    /BatangChe
    /BlackadderITC-Regular
    /BodoniMT
    /BodoniMTBlack
    /BodoniMTBlack-Italic
    /BodoniMT-Bold
    /BodoniMT-BoldItalic
    /BodoniMTCondensed
    /BodoniMTCondensed-Bold
    /BodoniMTCondensed-BoldItalic
    /BodoniMTCondensed-Italic
    /BodoniMT-Italic
    /BookAntiqua
    /BookAntiqua-Bold
    /BookAntiqua-BoldItalic
    /BookAntiqua-Italic
    /BookmanOldStyle
    /BookmanOldStyle-Bold
    /BookmanOldStyle-BoldItalic
    /BookmanOldStyle-Italic
    /BookshelfSymbolSeven
    /BradleyHandITC
    /BrowalliaNew
    /BrowalliaNew-Bold
    /BrowalliaNew-BoldItalic
    /BrowalliaNew-Italic
    /BrowalliaUPC
    /BrowalliaUPC-Bold
    /BrowalliaUPC-BoldItalic
    /BrowalliaUPC-Italic
    /Calibri
    /Calibri-Bold
    /Calibri-BoldItalic
    /Calibri-Italic
    /CalisMTBol
    /CalistoMT
    /CalistoMT-BoldItalic
    /CalistoMT-Italic
    /Cambria
    /Cambria-Bold
    /Cambria-BoldItalic
    /Cambria-Italic
    /CambriaMath
    /Candara
    /Candara-Bold
    /Candara-BoldItalic
    /Candara-Italic
    /Castellar
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CenturySchoolbook
    /CenturySchoolbook-Bold
    /CenturySchoolbook-BoldItalic
    /CenturySchoolbook-Italic
    /ComicSansMS
    /ComicSansMS-Bold
    /Consolas
    /Consolas-Bold
    /Consolas-BoldItalic
    /Consolas-Italic
    /Constantia
    /Constantia-Bold
    /Constantia-BoldItalic
    /Constantia-Italic
    /CopperplateGothic-Bold
    /CopperplateGothic-Light
    /Corbel
    /Corbel-Bold
    /Corbel-BoldItalic
    /Corbel-Italic
    /CordiaNew
    /CordiaNew-Bold
    /CordiaNew-BoldItalic
    /CordiaNew-Italic
    /CordiaUPC
    /CordiaUPC-Bold
    /CordiaUPC-BoldItalic
    /CordiaUPC-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /CurlzMT
    /David-Bold
    /David-Reg
    /DavidTransparent
    /DilleniaUPC
    /DilleniaUPCBold
    /DilleniaUPCBoldItalic
    /DilleniaUPCItalic
    /Dotum
    /DotumChe
    /EdwardianScriptITC
    /Elephant-Italic
    /Elephant-Regular
    /EngraversMT
    /ErasITC-Bold
    /ErasITC-Demi
    /ErasITC-Light
    /ErasITC-Medium
    /EstrangeloEdessa
    /EucrosiaUPC
    /EucrosiaUPCBold
    /EucrosiaUPCBoldItalic
    /EucrosiaUPCItalic
    /FelixTitlingMT
    /FixedMiriamTransparent
    /ForteMT
    /FranklinGothic-Book
    /FranklinGothic-BookItalic
    /FranklinGothic-Demi
    /FranklinGothic-DemiCond
    /FranklinGothic-DemiItalic
    /FranklinGothic-Heavy
    /FranklinGothic-HeavyItalic
    /FranklinGothic-Medium
    /FranklinGothic-MediumCond
    /FranklinGothic-MediumItalic
    /FrankRuehl
    /FreesiaUPC
    /FreesiaUPCBold
    /FreesiaUPCBoldItalic
    /FreesiaUPCItalic
    /FrenchScriptMT
    /Garamond
    /Garamond-Bold
    /Garamond-Italic
    /Gautami
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Gigi-Regular
    /GillSansMT
    /GillSansMT-Bold
    /GillSansMT-BoldItalic
    /GillSansMT-Condensed
    /GillSansMT-ExtraCondensedBold
    /GillSansMT-Italic
    /GillSans-UltraBold
    /GillSans-UltraBoldCondensed
    /GloucesterMT-ExtraCondensed
    /GoudyOldStyleT-Bold
    /GoudyOldStyleT-Italic
    /GoudyOldStyleT-Regular
    /GoudyStout
    /Gulim
    /GulimChe
    /Gungsuh
    /GungsuhChe
    /Haettenschweiler
    /Impact
    /ImprintMT-Shadow
    /IrisUPC
    /IrisUPCBold
    /IrisUPCBoldItalic
    /IrisUPCItalic
    /JasmineUPC
    /JasmineUPC-Bold
    /JasmineUPC-BoldItalic
    /JasmineUPC-Italic
    /Kartika
    /KodchiangUPC
    /KodchiangUPC-Bold
    /KodchiangUPC-BoldItalic
    /KodchiangUPC-Italic
    /Latha
    /LevenimMT
    /LevenimMTBold
    /LilyUPC
    /LilyUPCBold
    /LilyUPCBoldItalic
    /LilyUPCItalic
    /LucidaConsole
    /LucidaSans
    /LucidaSans-Demi
    /LucidaSans-DemiItalic
    /LucidaSans-Italic
    /LucidaSans-Typewriter
    /LucidaSans-TypewriterBold
    /LucidaSans-TypewriterBoldOblique
    /LucidaSans-TypewriterOblique
    /LucidaSansUnicode
    /MaiandraGD-Regular
    /Mangal-Regular
    /MicrosoftSansSerif
    /MingLiU
    /Miriam
    /MiriamFixed
    /MiriamTransparent
    /MonotypeCorsiva
    /MS-Gothic
    /MS-Mincho
    /MSOutlook
    /MS-PGothic
    /MS-PMincho
    /MSReferenceSansSerif
    /MSReferenceSpecialty
    /MS-UIGothic
    /MVBoli
    /Narkisim
    /NSimSun
    /OCRAExtended
    /PalaceScriptMT
    /PalatinoLinotype-Bold
    /PalatinoLinotype-BoldItalic
    /PalatinoLinotype-Italic
    /PalatinoLinotype-Roman
    /Papyrus-Regular
    /Perpetua
    /Perpetua-Bold
    /Perpetua-BoldItalic
    /Perpetua-Italic
    /PerpetuaTitlingMT-Bold
    /PerpetuaTitlingMT-Light
    /PMingLiU
    /Pristina-Regular
    /Raavi
    /RageItalic
    /Rockwell
    /Rockwell-Bold
    /Rockwell-BoldItalic
    /Rockwell-Condensed
    /Rockwell-CondensedBold
    /Rockwell-ExtraBold
    /Rockwell-Italic
    /Rod
    /RodTransparent
    /ScriptMTBold
    /Shruti
    /SimHei
    /SimSun
    /SPIonic
    /Sylfaen
    /SymbolMT
    /Tahoma
    /Tahoma-Bold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Tunga-Regular
    /TwCenMT-Bold
    /TwCenMT-BoldItalic
    /TwCenMT-Condensed
    /TwCenMT-CondensedBold
    /TwCenMT-CondensedExtraBold
    /TwCenMT-Italic
    /TwCenMT-Regular
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
    /Vrinda
    /Webdings
    /Wingdings2
    /Wingdings3
    /Wingdings-Regular
    /ZWAdobeF
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /SyntheticBoldness 1.000000
  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU (Stephen Austin Distiller settings file V6)
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 822.047]
>> setpagedevice


